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\\\Crnon .
nk actsas a banker and supervisor to commercial banks in various ways. Some

rpe Central Ba

5f [hCm are: ,

sl provides financial assistance to banks by discounting their bills and through loans and
@ ivances against approved securities.
It supervises; regulates and controls the activities of commercial banks.

ovides the commercial banks with centralised clearing and remittance facilities.
| banks are required to maintain a certain percentage of deposits with the
he sole aim of these reserves is to enable the Central Bank to provide

)

(¢c) Tt Ppr .
(b‘{) The commercia

Central Bank. T
nce in times of financial crisis.

Or
The commercial banks are in need of funds in emergency. This happens in times when banks
quffer the ‘crisis of confidence’ of its depositors. The depositors start fearing that the bank
ut of its cash reserves. So they start withdrawing their deposits beyond the limit

may run o
the bank can afford at a time. It is in such a crisis that the central bank acts as a ‘lender
of the last resort’. It comes to the rescue of the commercial banks and advances necessary

redit/loan against eligible securities. Thus, in this way the central bank helps the commercial

hanks to cope up with the crisis.
' ‘Money supply’ refers to the stock of money in the country at a particular point of time.

assista

| The components of money supply are:
¢ Currency with the public outside the banks. Currency includes coins and currency notes. These

notes are called ‘paper money’. Currency is also known as fiat money.
¢ Demand deposits with the banks. Demand deposit is any deposit on which a cheque can be
written. These deposits are known as ‘demand deposits’ because the amount in such

deposits is payable on demand.
Both these are directly usable for carrying out transactions at will.

) Revenue deficit = (i) - (iv)

| Ficont dores = 100 - 80 = T 20 Arab.
sl deficit = (i) + (v) - (¥) - () .
=100 + 110 — 80 — 95 = ¥ 35 Arab.
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W (A) Problem gf «

double-counting’ refers to the counting of the value of oy u
onee, Iy e

ich wi 3 gooq
ads 10 overestimation of national income, which wi]] then ney be
Of ecconomic Rrowth of a country.

a trye | t}laxl
Suppose y f
INO bread
for ? 4,400,
output, bee
This defini
it
(@) Take the value
schedule basec

armer produces wheat worth €

2,000. He sells this Wheat tg ¢
and sells it to the grocer for

¥4,000. The grocer sells the brea
he total output of the 3 producers is ¥ 10,400 byt this g

O the i
. dth Not the Valu:onsu it
S ce times an
ause it includes the value of wheat three tim o

¢ value of breg
crestimation of national Income, There are ty, by tw.

tely will lead 1o ov

added instead of value of tot

al output. Let yg €Xplain thjg With ¢
I'on the above cxample,

Producer | Value of output | Intermediate Consumption
Farmer 2,000 -
Baker 4,000 2,000
Grocer 4,400 4,000
Total 10,400 6,000
L
On the basis of this above table, we find that the sum tota] value adde Y the brogy
Farmer, baker ang grocer is ¥ 4,400 (3 2,000 + 2,000 + ¥ 400) ang this the Cery.
Which is to pe counted while estimating nationa] Income (as jt doeg 0Ot ingy,, de d:alue
counting), bl
(b) Take the value of fing| products only. We already know these prOd_ucts e .
Consumption/investment or both. The tota] value-added i Nothing else p . 10r
of final Products only,
Value of Final Prodyct = Value of output — Intermediate Consumptjgy,
Or
(B) ‘Non-monetary exchanges’ refer 1o activities like services of family Memberg Provideq ¢, eagy
other,
There are many goods anq services contributing to €Conomic welfare but net includeq in Gpp
(Non- Monetary Exchanges). They are left out from the Cstimateg f NI, n accoyy i
Practical difficultieg of Measurement, like services of housewwes and other family mbero
OWn-account Productiop etc. These are left out due to n0n~avallablht OI daty and alsi)
because of the Problem of theijr valuation Thus, to depend only on Gp as such, woulg
result in ap underestimatlon of economic welfare
B VA, = (i) + ) 4 (i) - (v)
=200 + 10 + (~10) - 120

= ¥ 80 Lakhs
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- A in the derivation of the propensity to save curve from the propensity to

e B :

L g1 cifferent Jevels of income by taking Y

. Sl R0

SR o gace between the consumption curve § 4
, o] AISLE

Ly 457 line 3

pnad L 3 ' avi C
2 the j,;r.z'a , income and consumption b i .S

e T, eoual Y = C. Le., savings are zero. s B I
e :_‘_',,.3 CC curve is higher than the 45°line, SC| ; "’

57 OO P . . . . ' ,

) =« mcome. This implies savings are negative 50 45° ' .- ;¢Savmg -
p— fu Lot (O c ' ’,"D B e
Wik puimg) 10 1HE left of point B, in the diagram. S i Income

.+ ooint B, OC curve is lower than the 45°line, S
. sy i OF POIE
, e . C < Y and savings are positive. CC — Propensity to consume curve

siceance berween the CC curve and 45° line SS — Propensity to save curve

. 1evels of income just below the upper part we can derive the saving curve
. (OC curve is a straight line, the derived savings curve (SS), must also be

.,,w»:u"ular from point B on the consumption curve, intersecting the OX axis, at

Aol e

© . D which must be on the OX axis, because savings is zero when Y = C,

o
{

-+ OS on the Jower part of OY axis as equal to OC. This gives us point S, from where the

2y P e
' ‘.v;'."_:z iTve ‘ﬂ‘ll] start.
iy DOID amd D and extending the straight line upwards we derive the savings curve
- Or

- ..—onon function shows the relationship between consumption and income.

o C=CT+bY

zs that there is a direct relation between consumption and the level of income.
income increases, consumption also increases but the increase in consumption
. . -mz7 1HE IncTease In income.

- --rizon of copsumption function can be further explained by following consumption schedule
Income Consumption (T crores) X
0 50 Y
100 100 5
200 150 g C=C+bY
300 200 2 5
5 C
00 250 e
500 300 45 o
o Income

““zne zble znd diagram show that as the income increases, consumption also increases but
“- “irzzit in consumption is less than increase in income.

ng Power Parity
4) znd (iv)

“c P

-7 Assention (A) and Reason (R) are true and Reason (R) is the correct explanation of

“etlion (A)

“ Salements 1 and 2 are true
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28. (A)

(B)

29, Increasing interaction
as “Globalisation”.

The
(@)

(b)

(©

30. (a)

()

_ (if)
= 1o false
O lmcmcnt 2 is fa

All of these

A - (i), B~ (i s
Sratement | is truc ar

only (1)
Export duty

Mixed Economy o units from 17 to 4.

. 1991 w n
vatisation 17 ic sector | f PSUs into pri
en towards priva lf reser\'cd ublic elling the shares O Private hands,

n number of res dertakl S o stment.
: icsectoru ; tal inv - )
ntin public € ivate S€C n to e Operatlonal and managerial auton,

the share of PIVE™ o h¢ with som e my
jonofa public depart y three)

Steps taken (O
(@) Reduction !
(b) Disinvestmc
(¢) Increase 'm
(d) Corporatisat
Or _ o
jc policy were:

ew econom!
i dun g )
- forms introduce o reduced- B i
fal;‘::go}:}f direct and indirect ta;(es_ :;:trration - subs@eslgfp good, o 5

g dures WEre simplitied.
(b) Reduced expen i | .
(¢) To encourage tax payerss n: Zconomy with the other countries of the world i o
of the domestiC

main features of Globalisation are:

fsati ign invest
With the introduction of globahsatlé)ll';,r (f)?;zltgi(r)l nl e d (FIPB) has been set up.
i ion Investmen
promote this, a Foreign

i< also brought along with Foreign Direct Invegtp,
d management expertise1sa - : ent
I\i?el‘svlt)eClh::;(i)il:ngyi::gustries‘,can now make technqlogy agreempnts erct)l\‘:a‘;hie forelgp Supplierg
E)f tec.hnology. Government has started granting automatic app n certain selecteg

industries. ' .
On account of globalisation, there is unrestricted flow of goods and services, technology .

expertise between India and the rest of the world. .

On the basis of the given data, we find that the annual pppulatlon growth. rate in Pakistap
standing at 2.1% is the reciprocal of the annual pop}llatlon growth rate in India at 1.29
Pakistan’s population growth rate is higher than India’s because of high fertility rate an(i
large sized families.

India has a lower sex ratio (929) as compared to Pakistan (947) which is real issue of major
concern for the demographers in India.

ors can now directly invest in Ip dia, 1,

31. (A) The given picture indicates the concept of ‘globalisation’ which means integrating the economy

e ’ - .
o gether with EAD ECOnOmicS§

of a country with the world economy. Under this process, goods and services alo i
capital, labour and resources can move freely from one nation to another. Th it o
globalisation has been to increase the domestic and external competition th. e
application of market mechanism and facilitatin !
investors and suppliers of technology.

: ' ough extensive
g dynamic relationship with the foreign

requiremen Ome a depreciat .
'S of production, machin ed economy. This was because to meet the

resulting in hj ery a :
gh degree of wear anq te?r ln ed e(;luxpment were used very intensively,
» 1€, depreciation,

12




like reclamation work,

asing employment opportunities in rural areas arc:
uction etc.

he gcncrilwd by development of non-farm activities
\m¢! cural (ransport services, creation of public assets, constr

LK Lt
e activities '
tential for

¢ village handicmﬁ and cottage industries as these have a larger po

1o

force ‘

Jformal sector (or any other relevant suggestion)
and the affluent consumption and

g the ir
ragt® . of the developing countries
put a huge stress on the environment

the developed nations have
d assimilating wastes.

f supplying resources an
i acity of the

ts functions ©
heir use is beyond the carrying cap

ming extinct since t
an environmental crisis.

nd for environmental resource
isation, increased demand for good
This has caused pollution which is more

s and services was much less than
s and services has led to

.‘ mﬂm
IO es, the dema
than the absorptive

e upply- Due to urban
el SUPE justrialisation:

W2 Je! in s
o f the environment.
ces are extracted by man has been more than

» :Dac][-\. 0%
: hich the resour
rces, causing serious environmental problems.
Or
al marketing following suggestio
transparent marketing condition
|facilities like roads, railways, godowns, cold-

the rate of regeneration

ns are provided:
s for regulation of markets.

e the agricultur
storage, warehouses

.L.C“r;ating orderly and
Providingphysical infrastructura
E‘;:operative marketing to help 1 realising fair pr
" (The success man e of the milk co-operatives at Anand in Gujarat st
t role of co-operatives in an economy but in the recent p

a setback.)

ice for the farmer’s product.
ands a testimony to the

importan ast, the co-operatives
have received
policy instruments like

(/) assurance of Minimum Suppo
(i) Maintenance of Buffer Stocks
(jii) Distribution of the essential food grain

ie, PD.S.
i1 India, people migrate from rural to urban areas mainly due to poverty, high population

«ure on the land, lack of basic infrastructural facilities like healthcare, education, etc.

cner opportunities for education, better health facilities and sources of entertainment
. . . . ’
migration in India from rural to urban areas.

el., are also quite important pull factors for
<0ple migrate from one place to another in search of jobs that fetch them higher salaries.

1{,zlrosyrgg:tto lreads. to rural-urban migra.tion whereas technically qualified persons (like
| fi'.'ing {hat thes) nrzngrate Fo other countr'les begauseI of l}igher salaries and better standard
o higherycos?yo?? 1.n such countr'les. Mlgrat.lc?n in both the cases involves cost of
B e e iving and psychic cqst of living in a strange socio culture setup.

earning in the new places outweigh the costs of migration and hence, expenditure

on mi rati »
gration is a source of human capital formation.

rt Price (MSP) for agricultural products.

of wheat and rice by FCL.

sandsugar through the system of Public Distribution,
(any three)
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